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1. 1f Bis 100 and Isq is 12pA and Vceq is 5V, what are the collector resistance (5%), base resistance (5%) and

collector current (5%) ?
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2. It is known that when the switch (S.W) is opened (OPEN), I=6.5mA, when the switch is shorted (CLOSE),
I=4mA, Vt=1.18V, try to find EMOS

(1) Kn coefficient? (10%)

(2) What is the role of the fixed power supply method added to this circuit? (10%)

+Vdd=+10V
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3. If B is 100 and Early voltage (Va) is 100V, please find (20%)

(a) the DC voltage at the base (VB) and the emitter (Vg); (5%)

(b) if Vcea is 3.5V, find the value of the required collector resistance? (5%)

(c) If the bypass and coupling capacitor are shorted, find the small signal voltage gain Av=Vo/Vs (5%)
(d) If there is a 500Q resistor in series with Vs, redo the problem in (c)? (5%)

+Vee=+5V
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4.1f B is known to be 180 and the output resistance is . (20%)
(a) the values of laq, Icq and Vceq (5%)

(b) the small signal gm/rn (5%)

(c) the small signal voltage gain Ay=Vo/Vs? (10%)

+Vee=45V
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5. As shown in the figure, we know that B is 50. (25%)

(a) What is its maximum fan out (Fan out)? (10%)

(b) If B is not considered to be 50, what is the minimum value of B? (15%)
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